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UPPCS Prelims Exam 2013 : General Studies (Paper - Il)

GENERAL STUDIES - 11
HHE AT TH - 11

1. In the process of communication the 8.  The disclosure of personal or non-
firsy step is personal information in  superior-
. 1L > r;::;‘u_;gd_ing (b} message subordinate TEIH[iﬂllShip 18 Ca";ﬁd
{c) decoding (d) recelving (a) closeness (b) , ~sharing
: _ : - » openness i d’}* informality
x: Fmﬂ out tht_f odd 1tem from the aspects 9, Which of the following interpersonal
of communication given below : skills is halpfui in maintaining close
(a) Access friendship with some one ? ) oY
(b) Priority of topics {a) Horfuwing things \)Q'('
(c) Antegf¥ptions . Volunteering help in time -:.Jb'b}o
@ Mgdning of a behaviou : _ 11;:1::{! &
: o 'vﬁéo e B o Tl B RO (¢) Need for power éo‘?
3. _:.1& one of the _;I::_ owing can create | (d) Being happy in a party &
Q%Q;nh M Bading SUl=SpEEsunal ) i MY Consider the following statﬁ:n@\lts.
Gationship | ! Assertion (A) : People fid  theil
{\L/‘(; a)  Shyness problems are unique.
\(\{»Q (b) Emotional maturity « Reason (R) : Active hstening
(c) Assertiveness . conveys something to the person
(d) Empathy who is listened to.
s Answer according to the codes given
4.  Communication that cuts across below :
functions and levels in an organization is (a) Both (A) and (R) are true, but (R) is
(a) , upward communication . _gSnot the correct explanation of (A).
horizontal communication gg' '{i; :i F;;:é bl;ﬁt{?}%}l? ftalse.
¢} diagonal communication RO : ol &
{f['fj\; dmﬁrm—‘urd ('mmmmir:—:mﬂ .\Q&'bif’ﬁdfj S B (B de i R)
¢ R correctly explains (A). N
5. In which of the following patterns of a“eﬁ L. Any variability in the message receiv
inh‘:?urau:m] communication an \ which could not have been Prﬁdictgéfﬁt
equality relationship 1s maintained by the source is attributed to &
each person also has authority over | (a) 1sunderstanding \\be
different domains ? | . noise K
k) The balanced-split pattern f (c) blockade >
(b) The equality paitern i (d) irrational thinking
(c)  The unbalanced-split pattern f 12.  Match the List-1 to the List-IT and give
td) 1hemonopoly pattern | answer on the basis of the codes given
o. in which 01 the following ! below the hists :
G e S S TR ] List-I List-11
. 1§ .II-:f..Ll..§'$’0 1 \ o CIACH Iiem : | {-T:..pes of (Variables)
01. -'t.:l. gro can comniunicate only Communication) '
if;nrh his gerest member ? A, Verbal z . Social cultural
{a) sheel network | factors
T 0 ' B Wit .
. () ¥ .\ network : B. Wntten 2 _]:HHEUA'L?C
A% Chainnetwu | © iluency ©
\53 Ciscle neivtk | 24 gQiﬁﬂmls 3. Implied QSJO'
o _ o meaning &
T When individuals  feel that  their §°° Physical 4. Cognitive &Q’%
behaviour . is being restricted, they : on\ gestures ability \oé‘o
respond in a way that can be called \b‘?ﬁ Cndesﬁ: R C b@f@
{a) psychological defence QIQ"\ (a)/ b 1 1 E &Q“\\
(b) ~psychological vigilance < M ¥y 1 1 ;
t psychological reactance ey -1 3 9 '
(d) psychological persistence (d) 3 1 ) 4
Series-R 2 e
2
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Directions for Q. No, 13 and 14 : Consider
the following statements and answer Q. Nos.
13 and 14 on the basis of these statements.

(i) A guest house has six rooms A, B, C,
D. E and F. Among these A and C can
accommodate two persons each, the
rest can accommodate only one each.

(ii) Eight guests P, Q,R, S, T, U, W and X
are to be kept in these rooms. Q, T and
X are females while the others are
males. Thao two sexes cannot be put
together o’ the same room. No man is
willings® stay in room C or F.

(iii) P wgts to be alone but does not want
tg@‘\slay in room B or D. S needs a

AQ[JETT.IIEF but is not ready to stay with U
\\ or W. X does not want to share her
~ room.

13. Who among the following will stay in

room E ?
(a) U b) W
P d Q
14. ‘X’ will stay in which of the room ?
(a) C (b) E

) B I F
15. Which of the following figures 1s
different from others ?

(a) (b) A &

S AL A

16, Which of the foHowing pairs has the
same relationship as it is between JL
and WZ ?

ACandRU (b) ABand PW
(¢) PR anddz,\d (d) TUand WX

17. Which nt;ft%e following is the proper
ord "”b\
_‘}z);:)?o listen, to think, to trust, to

\&’z work :
,\q ) to trust. to listen. to think. to
work
(c) to think, to trust, to listen, to
work
(d) to trust, to work, to think, to
listen

18 The relationship between Doctor
Nurse is same as in Police Inspector : 7
(a) Thief Constable -
(c) Pistol (d) Jail

£

19.  Which of the following pairs has the
same relationship as is found between
Australia : Continent ?

{(a) Engine : Train

(b) ~River : Coast
Vikrant : Ship -

(d) Yuri Gagarin : Space

20. Examine the following three

statements : ' o8
1.  Shyam is not the father of Hari. OOQ'('
2. Hari is the son of Suresh. 5
>
Suresh has three sons. é\“

Which of the following cm%g,ﬁlsmns
can be drawn from t\é above
statements 7

(a) Shyam is son of Suresh.

(b) Hari is brother of Shyam. .
—{e¥~ Suresh is father of Hari.

(d) Shyam has no children.

21. Which one of the following is the last

tegtof reggqpiug ?
Hypothesis  (b) Dedu;n on

&W Verification (d) Preparation. o‘,\“
o*ﬁ Which one pf the fnllnwmg will comg>°Q

in place of the question mark (7) b\'b%
CD,HI, MN, ? L

(a) QS (b) OP "

(© PQ (d) R

=2
23. If Monday falls on the first of October
which day will fall three days after the
20" in that month ?
(a) Monday k_Lbir_‘_ 'Illﬂsda}f
(c) Wednesday (d) Sunday

24. Select the correct alternative-out of the
given four to complete the sequence :
-A-A--BAB-B-BABA
(a) BBABAA. (b)Y BBBAAA
ich @.BAF{HA (dy HBBAARR 6§\

5. I d row of children Bali is sevcntb°Q
) Qb om the left and Moti is fourth fﬁé’%ﬁ
éoQ the rightt When Bali and\oQﬁ'[ou
& exchange their positions, Balgzﬁvl]l be
fifteenth from the left. Mnt;\\s position

from the right willbe <
(a) Eighth (b) Fourth

(c) Eleventh \@/ Twelfth
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6. Many of our decisions are influenced 29. There are four roads. I have come from
by irrglevant aspects of the situation the South and want to go to the temple.
(e.g. the precise way in which the issue The road to the right leads me away
1s presented). This phenomenon is from the coffee house while straight
called -~ road leads only to a college. In which

framing direction is the temple ?
) anticipated regret -y (a) North s_(bY" East
(c) ersonal verification (c) South (d) West

(d) loss aversion

27. Mr. Vasu, the managing director of
XYZ company asked five persons —
Asit; Varun, Chandra, -Danny and
Eshita abeuit their interest in a new
project, Q’F?m replies, he got, were :

Asit o : None of us is interested.

30. Five persons A, B, C, D and E are
either guards or thieves. The guards &
always tell the truth whereas thieves &
always tell a lie. A claims that B is a®
guard. B claims that C is a thief &
claims that D is a thief. E claims that A

v : One of us is interested. I 8 guam. D chame S0 B and) afe
gﬁmdrat Two of us are interested. dlﬂerelnt kmgs. Tgc number ol @ el
SDanny : Three of us are interested. (a) (b) \ _U"} 3 0d) 4
\%" Eshita : Four of us are interested. 31. When a conclusion is usuaﬁ}f expressed
& From his experience, Mr. Vasu knows imphcitly or explicitly in terms of a
N that those who are interested only tell robabilistic statement, it refers to
the truth and others lie. How o a) reasoning dialogues
.them are interested in the new projedt ? (b) -deductive reasoning
2) 4 (b -3 (@ 2. 1 inductive reasoning
28.  You had made a request to the State " (d) none of the above
Civil Works department for repair of | 32. Wy$h a person knows little about the
roads of your colony which are in tended goals of a decision and when
pathetic condition. The roads have not gOutcome “options are unclear such a ¢
been repaired as vet, but in response to $®” situation is called &
an RTI application filed by you, the & (a) certain b): unceitain \o"Q
official records show that the repair has d@ ﬁc} risky s Ed}f ﬁmhigugug@"o
- been done and the contractor has been\*| 33. Which of the following is pat a
paid for it. You tried to meet (fa® characteristic group decision mgléing ?
Executive Engineer but he has beén Jal” Members offer ¢ \Pcreased
avoiding meeting you on one pretext or diversity of views. &5'\ i
the other. Meanwhile the contractor (b) Members lead 105 increased
has approached you and threatened you __-accepiance of solution.
with dire consequences if you take any vic] Members are efficientsr
further action. He assures that the roads (d) Members are effective.~
ifeﬂé”ulﬁ ::g;z:ii?gr?]]i?ui}d ;L“&?Eill;n‘ggl 34. “Consider the following statements -
Which amﬂgg'\the following actions et Fc;]rn;fugf !ng:zpfnsahh.
will you takg® Conclusions : 1. Fil o r;, .
(a) " Filgs written complaint against " it © ”',:‘-5’ ACETRE Y.
the’ Executive Engineer and the G SR
contractor, despite the threat. , enlertamment.
: Feople enjoy fims.

T PR\ Qi
(ba? Keep silent and accept the £ ;
Q-\\b contractor’s offer of getting the o5 3. People do not like ¢

& roads only around vour house plays. ©
" repaired. _F 4 D{‘Oﬁssc conclusions ,\o"Q

v{ft:}/ Take inifiative and gamer people .gﬁ) Only 1 is implicit in Q&‘i’%
in your colony to file a joint R statement. . &
memorandum against the civic | o (b) 1/and 2 are implicit @& the
authorities and the contractor. A\ tatement. : ¢ 0

(d)  Plan to shift your residence to a &5 \ Only 2 is implig® in the

better locality which enjoys the staternent.
services of a more responsible (d) 1, 2 and 3 are implicit in the
and beiter civic agency. ' statement.

. ™ -
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35 Among five friends A is heavier than
\ B, C is lighter than D, B is lighter than
D but heavier than E. Who among

them is the heaviest ?
D Ly A

@ B (b C (0

36,7 "At an enquiry  office on a railway
station, a passenger was told that a
train for Delhi had left 15 minutes ago
but after every 45 minutes a train
leaves for Delhi. The next train will
leave at 8:30 p.m. At what time was

[

Rome
Sharad - Moscow
Chandan — Montreal
(d) Triloki - Glasgow

44. Find out, the number of triangles in the

following diagram :

K
el 22 ) 23 © 19 () 20

&

&

this igfﬁ\rma,tien given to the e e - <
passenger 7 J:ﬁ/ Find out the missing. letter in é\tﬁe
@Qé";rﬂg p.m 8:00 p.m. following table : oS
8:15 p.m. (d) 8:05 p.m. N 9 Pl \\b@
9 ! 3*
s 1f [C[P[ 1] is [DIMIK], then which of L &
& the following wéuld be [B[T[P] ? i
< (@ {G[cIS]: @ R (0 Nuker M (d) L
¢y [C[R]G] (dy |[C|S|F] 46. Examine the following statements :
3 Which 4 shiould Ba e gl £ 1. Either Ram and Shyam are of the
j( which word snould be m place o1 ! same age or Ram is older than
in the following ? : Shyam.
XYWU : TRSQ=1JKI : ? 2.o" Either Ali and John are of the
HFGE (b) EFGH S same age or John is older than
(c) FGHE (d) GHEF &5%3 ;}111 : Qo'.\“
39,7 The day on 18.9.1977 was Sunday. A | & 3, . Shyamisolder than Ali R
v couple was married on this date. How &° WIueh  ong, ;. ok tt}e fu]lowm%" :
: ; : X2 conclusions can be drawn from B¢
many marriage anniversaries wouldy\ Khove statea b T &
fall on Sunday fn the next 15 years ? &8 (@) Ram is older than Shyam, 0,4?}
(a) 1 <2 (©) 5 (d) 9 (b) John is older than Al\. ..\\E"
407 Seven children A, B, C, D, E, F and G (¢) ~Shyam and John are of ¢ same age.
are standing in a row. G is to the right L}}Af‘( Ram 1s older than Ali.
of D and to the left of B. A is on the 4% If KAMAL is written as 21413, then
right of C. A and D have one child MAHAL can be written
between them. E and B have two {a) 48113 Milgu
children betwegn them. D and F have (c) 41831 (d) 38141
also two chilgfen between them. Who 48. A cube has six faces each of a different
is exactly ig¥he middle ? colour. The red face is opposite to
(a) A&@%{b] Ciic) D (d)'G black. The green face is in between red
41. 1-'1'11%09}?1 the missing letter in the table : ﬂ:ﬁﬁldf_kj r!::fhﬂl“?,‘?;t':h ; di'Jaa;;“T }E’
\\&”4 AlZ|B blue. The four colours adjacent to
o ey greorie &
N\ '-—Iljf: ] \_,@'J)\;;E red, black, brown and white OQP
i _ , red, black, brown and blue ,,‘,;%o
(a) B D W)G{ (d V c)  red, black, blue and white &
42. Judgemental statements in decision ¥ (d) red, brown, blue and white &
makifig are known as : \‘i‘?\? The time in a clock is que past
heuristics 5 twelve. If the hour hand poighs to the
e N E}ast, }vhichhls éhg directio posite to
s e minute hand °
% pounded rationality. %a; South-West (b) South
c) West North
Qarin T o
8
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ﬁhB?ﬁﬂngqTﬁ%#CD
T g ¢, B, D &1 et | geiel
E®9d$ | g4 ga wafus

=

umﬁ:r%?
B Aﬁir(j
[g D »(,dj/ﬁ‘*/

gz [c[p[1] [DIMIK] & @t Fr=Aieifas

#9= [BJ | P] o 7

@
(d)

AN

e} s
(\j%ﬂ ¥ e w Byefates & @ o9 = e

g =y 2

XVWU : TRSQ=LIJKI : ?
HFGE (b) EFGH

(c) FGHE (d) GHEF

2
@139197?@%%&;;%
e =6l fepe,

Tt
T SAIE 1 faae g3n o | &
ém%amﬁném@ﬁ’r

Wby 2 -7

@ 9 '"
Q_ E, F 3 G U i
maﬂra%m%1
AAFCDSH

(a) 1
[

'{TI?TWM
dEsE |
A("?F?IQ' I

m%:ﬁmqﬁﬁtﬂﬁﬁ
ACF A P@EHANTHE |

2

HEE?

43/ faug g =t 94w .

‘}/ (a) Al - — Rome
(b) Sharad . — Moscow
Je) Chandagn — Montreal '
(d) Triloki - Glasgow

(a) R
e M
46, Frefafaa el % = Sk )
1. oA W W v gue Ay %
oS WU EH YL |
Q? mFﬁaa?ﬁaﬂTmmﬂangarE
& TEE ST

& 3 wm A Ese &
& acréjaﬁmﬂﬁﬁmi‘af@ﬁwﬁaﬁq@
frend ferer s weaT € 2 &
(a) TWHATHITE | &
(b) oW ST TEE | ©

(c) maﬁraﬂm‘ma@%
(d sEFmazE ©
afy KAMAL #t 21413 § forar sma @
MAHAL ! foen =1 g &
(a) 48113F/ oy 41813 ¥
(c) 41831 # (d) 38141
Wm‘eﬁa I HF-AAT T H E
U, e & AT & | E g A w©
| Wﬁq?a:taﬁimﬁmww?f*
m?mnmwmﬁa:mm?:tr
q:gasam:r%r?mﬁ
(a). o e, I, ST W HES K
gs?f AT, SHIEAT, 9 ST Al Ky
&@%{c) T, e, A THE o
OQ ) e, 4, S ST a

&
g ot Hm?ﬂ?ﬂ
HIT e

48,

&5 =

Al

Fﬁﬁ%mﬁgﬁ%f&qﬂﬁaﬁ%ﬁwmﬁ

' (a) SRl (b) g
(c) (q)/ ST

] (N 8

B
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50. On selling 144 bicycles, John lost the ﬁ/ From a point in the interior of an
selling prllce of 6 bicycles. fis equilateral triangle, the pe endiculfr
percepage loss 1s _ distances of the sides are+/3 cm, 24/3

4% (b) 6% (c) 8% (d) 10% cm and 5 3 cm. The perimeter of the

5 The rational number in the following s : triangle is t
(a) 010010001 ......... (ay " 6dcm - mg cm
{ RATIN s () 32cm (d) 24cm

s | ;
y2 59 D C
(c) N2+ 1 e// N
(d = S
& 0 &

52. If 378 cems consist of one rupee, 0 &

: R, Lo A B &
paise ¢Rd 25 paise whose values ae R
prog#¥itional to 13 : 11 : 7, the numbsr In the above figure, AB is pggiilel to

0 paise coins will be - DC, area of AAOD =4 cmz@\i area of
<N 136 () 133 (¢)132 (d) 13 ABCD-= 7 cm?, then ®e area of

g@\. What is the least positive integer which ACDO is

< leaves remainder 3 when divided by ¢, (8 /33 cm? (b) cm2
5, 6 and 8 but leaves no remainder (¢) 4cm? 3 cm?
when divided by 9 ? : 0. Find out the median of the followi

5 E ollowing

() 729 (b) 363 (c) 1234 4d) 243 E‘/ frequency distribution :

54.  If the zeroes of the polynomial Variablg® | 11 |12 [13 [ 14-[ 15 16 [17 ] 18
P -3+x+1=0 _ IFreq\u‘&hcy skl 8l gl 7 3]s <
are a b{a a+ b, then b is equal to Aa) 16 ()15 (o) 1 d) 13 &

2 () 1 6 Find out the m ' &

. can height of plantg

€ -1 d 2-1 \éf"’ from = the following frequegdy

55. If(a-b)x+(a+b)y=a2- 2ab- hi&"\ distribution : , - ‘.o>°Q 5
and (a+ t‘r} {.t‘ it };} il 32 4 !}2 B HE'Eht in cin 6] | 64 67 ]b?ﬂ ?:‘E
then y is equal to | No.of plants | 5 | 18 4&127] 8
(@ a+b (b) —(a+b) (a) 67.00cm (b) 66.50 cm

_— 2ab 2ab (c) 68.00cm 67.45 cm
LB @ T Nl
62. The mode of the following data is

56. The denominator of a fraction is one Class fae ] T

\- more than m-'i@othe numerator. If the Interval e |4D~55 d?'_____'ﬂfU:_im_'j_r_ﬂ}.l
sum of the fRtion and its reciprocal is Frgquency | 2 . B e

. e ’ % o= Lo . I |
- zla_. T%@ﬁaction is ) ??,5 "Mﬁzﬂ

2 (c) 54.0 (d) 50.5

&5 B 5 63. In acircle of radius 5 cm if AB and A '
Lié!\\ 3 \(b) 7 B 5 W are twg equal chords of length 6 ci o

57. Which of the following will be the ﬁacyoﬁsﬁen the length of chord BCis
correct way of writing WEDNESDAY ; (be gﬂ'».cm 4t . Q&'z’%
if the first, middle and last letters of the K 3 KR
word and vowels in the word are Xl (b) Ecm ol
written small and all other letters ‘ &.\\ 5 &.\\
wrilten in capital form? -~ S § s N
(a) WeDNESDay fb)— weDNeSDay (e) Fom
(c) WeDNesDAY(d) weDneSDay ( none of the above

Conwdnn T 10
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ﬁf{ﬁi@i&m

50 144 arEfefea s== 58. T WHaTg g & sied T e fdt fas
zﬁéﬁmw Bl _g¢ - | 38l wiava 1 SGH! AT W T U T wE
@ 4% (b) 6% FE; A3 Foll, 23 et o 53 e &
Ao 8% (d).. 10% Wiww £
530 Fretfrian 4 & e e & @) 643l @y 4sd
V(@ 1010010001 ......... [y (4O ¥ (@ 24w
N1 by G, %ﬁf” \@/ D ¢
2—1 [ &
&
d 7 &q,oo
52. n%@?sﬁaﬁﬁqerm 5{}'&1139112;1%1 mﬂﬂﬁﬂﬂ'@ﬁ ABWDFH@E
e 81 T el o ST 13 : 112 7 AAOD FI g% = 4 I W&BCD
ST At 50 R o foai # e et T & = ?mv?nam@ 1 S
\\%? (a) 136 (h) 133 - 3
K o 1‘32M‘ (d) 128 (a) /33 &2 (b) 5 wR
(33) T SR v Yo v, L4, 5, 6 © 4w @ 3R -
aﬁrsumf‘ﬁwﬂmsaﬂmgﬁ .
mEEEEE @’ﬁmﬁﬁaﬁmﬂmﬁmwﬁﬂmﬁmm
(@) 7291 pﬂffm 363 ifore - =
(c) ]21,, (d) 343 o 12113 144151617 | I8
S4, TG - B2 +x 4 | = 0 FIEE (et [5 7 (1110 (87 [3]5]
a—b,a at+b@a bETEE &,boé{] 16 (b) L5 S
{HJ / i .\Jr- {b] 1 OQ\Q ]4 - I:d} i 13 Lf . OOQS’
© -1 (d) \5—1 ] 6L~ Fem wrimren Reren g 1 wpn St
55. aft (a— b)x + (a + b)y = a? - 2ab 48 3'@1@“} e >3
3T (a + b) (x + y) = a% + b S L L SLGH T T0 S
A y TR E gttt w5 | 18]42[27 1\
(a) a+b (by —(a+h) (a) 67. ﬁﬂ'@f”’ﬁ 5{} N’cﬁi_ai_f
©), asb: \(‘% P 52 ﬁﬂfﬁlﬁﬁ&ﬁﬂ&? aﬂﬁ'uﬁ_%_, sty
560" T 3‘?’%”’*' i & = IH A s A [ 10-25)25 40‘49-_53 55-70{70-85[85-100
! | f ol |
—1-,_1 L ﬁﬁi%&mwwmmz—ﬁ }m! 2 | ST R O
3 i i g S 2 475 (b) 52.0
2 2l | (o) 540 (d) 50.5
m&(,}oQ" \kt’f 3 !‘E'j;l \hm. | ofe s ddr = a ad H AR AT
NS : ey [ AC B FEE Sl e ¢ T A A
S 5 HBC F Frr E o
o 3 @ = s ¢
9 11 4 ﬂoé 24 J\o\)Q
’f‘?@/w EDNESDAY & ferg =1 famforfaa # . T N
4 i a1 HE g F i e & e, | R ji &
a4 % aur wL o v H w0 5 &
@ ¥ SR A R A A9 a s o N
srerl | ferd =i 9 (c) ¥ 3
(a) WeDNESDay (b) weDNeSDay TS {
(c) WeDNesDAY (g}~ weDneSDay (@) v e /
.1'.11'\. -~ ? L I‘"
11
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Directions for the following Q. Nos. 64 1066 :
Read the passage and answer the
questions that follow. Your answers to hese
questions should be based on the pasage
only. Sl
My informant about the _Tiletan
civilization is a certain Japanese monk o the

name of Kawaguchi, who spent three pars

in Tibet at the beginning of the twemeth
genfury. His account of the expenﬂncehas
been translated into English and publihed
with the title ‘Three Years in Tibet’, bythe
Theosophical $dciety. It is one of the geat
travel bookgSt the world, and, so far as Jam
aware, thé®most interesting book on Thet
whmh@ European traveller could possbly
havee chad. He attended the University of
L ﬁsa. he enjoyed the a::quamtam:e of Diai
Rama himself, he was intimate with oneof
the four Ministers of Finance,
friend of lama and layman 1 of all sorts nd
conditions of Tibetans from the highest cliss
to the lowest — the despicable caste smihs
and butchers. He knew his Tibet intimately,
for those three years, indeed, he was for 511
practical purposes a Tibetan. _This is
something which no European exglﬁrgr cm
claim, and it is this which gives Kawaguchi's
book its unique interest.

e was he

70. The aetive voice of th_-.ﬁ@ntﬂnce wﬁ?

not ht rebuked by his officer 77is -
(a) His officer rebuked him.

(b) Did his officer rebuke him ?
«e} Did not his officer rebuke him ?
(d) Was 1ot his officer rebuked him ?
71. Fill in the blanks in the given sentence
‘with the cormrect phrase from those
ven below :
,E e 18 serlousl}f ill, please a
doctor. - v @
(a) call out ) gallup o
(c) callof « call in ooQ'
72. Point out the correct sentence. &
( a% I know to operate that ccmputp?
Jb) I know how to upﬂrat%ochat
~ computer.
(c) know to do opgﬁﬁe that _,
computer.
(d) 1 know how to do operate that .

computer.
Choose the exact meaning of the
1dmmgtlc phrase underlined below :
e boy turned a deaf ear to ‘the advice
of his well wishers.
'Eg]; \Lﬁster&eddciarefully ;’
& Was deadly oppos
Posed lﬂdlffﬂl%r::lﬂ -
Refused to listen - <
T{,% Out of the given alternatives choose o

& the one which can be the substitute fn:,-r N
Je\ the given sentence :

@

64. Who was Kawaguchi 7 ¥ A person, who 1is sufferin f'gém
(a) aChinese monk ,@*\\ nen%us break down, is . \o
(b) a Chinese traveller S }a} Eccentric - Neu
ey  a Japanese monk ¢) Lunatic d MO{\ e]
(d) aJapanese traveller 75. Change the voice of thgX following
el e et sentence :
(ﬁﬁ} Th’“‘? Years in Tibet’ is The teacher advised the students to
&) atravel book work hard.
(b) an adventure book J#)  The students were advised by the
{c) ashort story teacher to work hard.
Jd) anovel oS (b) Thc} stud}ﬁinits‘i] w.-.aarf{».?l a(%& 15&{1}? :ﬁe ¥
: ; tcacher that they should wo d
b6 f;;c d?pm%dcca;tis ;211] ;E"ﬂ i (¢) The students \.?.:ere being advised ,
mghs an uh 3 h v s to work hard by the teacher.
(b) %?EEPETE and butchers | (d) The students have been advised »
{c) OQ‘ 1oemakers and sweepers to work hard by the teacher.
i%}:‘ Shoemakers and butchers 76. Which of the following is the correct
(87, Q“M hich of the following words is dlf #rm of the sentence given below ? o
< correctly spelt ? / Shg crid _that her brother was _gemng <
\ b} Hara 15 o o]
vg; Eigizs Ed,']; l—larazsﬂ fng\’&%%} %};inh:é% ‘Her brother is gettg@?
(6 The word ‘assessment’ means - 2~ (b) She told, “My brother is @tun
E
enquiry r  (b) report .~ & married”. W
Qﬁ/ﬂ‘-’al'—idtlﬂﬂ . (d)  summary . & 2} She said, “My brmhqﬂm getting
69:The word ‘lovely’ is married”.
(@) agerund -¢b) averb (d) She. said, “My brother was
\ an adjective (d) an adverb married”.

Qarim

LY B o=k N
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@,‘3 frfefiaa @ | #1991 v 991 dgaa |
~ @A R
@ forg (R “ﬁﬁ
© TE (@

83. I FeH! aret Yieg W1 WEA Hit ;
a) e (b) T
(¢) TR (d) =HarE .

@/ﬁﬁﬂﬁaﬁmWﬁaﬁﬁmmqﬁ%?

\}
%#@WW@ e | (b) ﬂ%mm@mma@u
,,g&if% ﬁﬁ‘ﬁﬁ (b) forman (c) ﬁaﬁwﬁmﬂameﬁmm
o) FewEm @ e \// = m«ﬁ
.\\
X
\Q
79, ‘@ ¥ F (efeiEs B E UF H Y | 85, cgueier o 4y fawaw g
b £) TH+FA  (b) 9T+ AW
(a) . AB) T P e
(c) femamt (@) U s %os? .
: 6\'b '(;o'\
@0‘3(@ fretetfian w1et 5 i T & %q’i%
80. T = wifen weg & Q..\\6@ T : é\‘\&
L i s Q}O .
(a) il (b) fer (a) wfest b ] e
m KRG
Jo) it (d) wfaflt AQ) T (@ wfirof
81. ‘i@l ¥ g WEEL W A 87, TN H A RN F A E
oS " e
(a) T T () g
& , 8
{h} mﬁw (c) . ®R M) =
\&’(ca e 7 AT _ 4 |
& | w8 u g m g EE e N
& 4d) T H UH H Sehe T @ R &
&@oo (a) ¥ = &qu
IOQ o ,5\“
2 ) S &°
82. ‘T W fawim ¥ & \\&’/
s RS (c) T ==
(a) I (b) TEIEH
: (d) IHFTHET aﬂgqﬁ
o) T (d) Hyewo
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Oy et % T e # SR W & e
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